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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231283
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662317025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1,2,3,4,5 and 6. In the options, four possible arrangements of these nurmbers
are given. Choose the option so that the letters form a meaningful word.

LEGANC
122456

Options:

1. % 614532
2. % L45123
3. ¥ Z1456Z

4 % 312645

Question Number : 1 Question Id : 9662317025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T SR AT 1,2,3,4,5 ¢ 6 Wi fog My ) fwent # 5 deelt it = eviiae e & ¥ 99 fwen @1 aee w
TTIeF ST5% UF arfa dMeg o aan

LEGANC
122456

Options:

1. % 514532
2. % 545123
3. ¥ 214562

4. ® 312645

Question Number : 2 Question Id : 9662317026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % IMPL
2. % IE

2% SUQ
4 & WY

Question Number : 2 Question Id : 9662317026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



%qn%ﬁ'cﬁﬁﬁﬁ T T Tl Fer & TH 2 §TAl, U [dded ST o 4 1 a¥g Ag1 51 99 e @1 == & a1 a1l &
ST

Options:

1. % MNPL
2. % GIE

3% SUD
4. W WY

Question Number : 3 Question Id : 9662317027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:

1. ¥ Buffalo
2. % Lamb
2. % Foal

4. % Fawml

Question Number : 3 Question Id : 9662317027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. g

2. % fuAr

% % T @ T
4, ® TEvT @ AT

Question Number : 4 Question Id : 9662317028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first
TermmL

TOD : WVoF - MPR Y
Options:

1. % PQS

2. % ORT

2. % NFR

4. % MNGS

Question Number : 4 Question Id : 9662317028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % pQs
2 % ORT
3. % NFR
4 % MNOS

Question Number : 5 Question Id : 9662317029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ini a certain code language, BEE = 9, TREE = 12, FIRST = 15, then what will be RAINBECOW coded as?

Options:
1. % 18
2. ¥ 21
3% B
4 % 12

Question Number : 5 Question Id : 9662317029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U 47T #1= AT H, BEE = 9, TREE = 12, FIRST = 15 §, a7 RAINEOW T HIg &7 gITT?

Options:
1. % 18
= ¥ 21
3% B
4 % 12

Question Number : 6 Question Id : 9662317030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn a certain code language S6759 is coded as 13579, then what will 72365 be coded as?

Options:

1. % 26996
2. % 35155
3% 23476

4 % 12548

Question Number : 6 Question Id : 9662317030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U TP0T FIE AT H SE759 F1 13579 & w7 § Fiiaq oy A7 8, 91 78365 34 #iiET forgm S

Options:

1. % 26996
= % 35155
3% 23476
4 % 12E48

Question Number : 7 Question Id : 9662317031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Five boys Ashish, Bijay, Raj, Shubham and Mohit read a novel. The cne who reads first gives it to Raj. The one
who reads last had taken the nowvel from Ashish. Mohit was not the first or last to read. There were two readers
betweeer Bijay and Ashish. Whom did Bijay pass the novel 1o

Options:

1. ® Shubham
2. % Ashish

2. % Mohit

4 % Raj

Question Number : 7 Question Id : 9662317031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % s
o % sy

3. % AT

4 ¥ I

Question Number : 8 Question Id : 9662317032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming that the information in the statement is true,
even if they appear to be in variance with commonly known facts, select which of the conclusions logically
followis) from the statement beyond reasonable doubt.

Staternents. -
[. All liomls are tigers.
IT. All tigers are cats.

Cornclusions: -

I. Some cats are lions.
II. Some tigers are lions.

Options:

1. % Only Conclusion I follows.

2. % Only Conclusion 1T follows.

2. % DNeither of the conclusion follows.

4. % Both I and II follows

Question Number : 8 Question Id : 9662317032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e Twepy I ST e #eaT gl
2 % et Tomad 11 SIgER FaT gl
3. % g ot Fmad ergE TRt W
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Question Number : 9 Question Id : 9662317033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % 151
2. % 197
3. ¥ 143
4 % 137

Question Number : 9 Question Id : 9662317033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 151
2. % 197
3. ¥ 142
4 % 137

Question Number : 10 Question Id : 9662317034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that 1s related to the third nurnber on the same basis as the second number 15 related to the

first number.
-15: 225177
Options:

1. % 259

2. % -289
3. % 285
4 ® -28S5



Question Number : 10 Question Id : 9662317034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 Terpe T e e ST o T ST F FH HET | Heled § R T e S Uge | ST § et )

=15 2250177
Options:

1.¥ 239

2. % -2E9

= % 2BE

4 % 28BS

Question Number : 11 Question Id : 9662317035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs should be interchanged to make the below equaticon mathernatically correct?

60 +4x4-2+2=57
Options:

1.% 4+, -

2.0% 4+, =

2, =

4 % -, =

Question Number : 11 Question Id : 9662317035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TarT T ST o O 0 & AR e o oy T o el @ e S T AT Aiia

B0+ 4 x4d4-2+2=57
Options:

1. % 4+, -

2%+, +

R

4 ® - =

il

Question Number : 12 Question Id : 9662317036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers should be interchanged to make the below equation mathematically correct?

10 +5x6+2-4=8
Options:

1.% 10,4

2 % 3.4

=% 5,4

4 ¥ 5 3

Question Number : 12 Question Id : 9662317036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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l0+5=xe6+2-4=2
Options:

1.% 10,4

2% 32,4

2% B, 4

4 ¥ 5 3

Question Number : 13 Question Id : 9662317037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the following number series.

29, 37, 46,
Options:
1. % 55
2. % 52
3. ¥ CE
4 % 54

—————

Question Number : 13 Question Id : 9662317037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt e it # Trae e aa w
239, 37, 46
Options:
1. % 55
2 % 52
3. ¥ 5B
4 % 54
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Question Number : 14 Question Id : 9662317038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the number which when added to itself 17 times, gives 216,

Options:
1. % 17
2. % 18
2% 19
4.9 12

Question Number : 14 Question Id : 9662317038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I5 HEAT AT B, A 17 AW S0 W § A, 97216 T §ET 8l

Options:
1. % 17

2 % 18



3% 19
4 ¥ 12

Question Number : 15 Question Id : 9662317039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following Venn diagrams best represents the relationship between mothers, teachers and singers?

Options:
], - 2
e -
' %
i [}
3 ®
|II,-. -"‘l
/f: -;l:"- -,.‘H"I
'\“ '-‘I'
4 o L '.\-)- S

Question Number : 15 Question Id : 9662317039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 16 Question Id : 9662317040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Arman walks 8 ki north, then turns east and walls 2 lar, then turns scuth and wallks & lar, then turns to his
right and walks 2 kit Where 15 he now with respect 10 his starting position?

Options:

1. ®# S kmnorth
Z % 5 lam south
3. % 2 lam south
4. % 3 larnorth

Question Number : 16 Question Id : 9662317040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 8 krry IO T SR TeaT &, O Oa @1 & G2aT & o 2 ke aadT 5, O S8 &1 &1 g2aT & & 5 ken aed T &, O ams
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Options:
1. % 5 lam 307

= ® T o ZiEmT
2. % 3l SrEm
4 % 3l 3w

Question Number : 17 Question Id : 9662317041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following cubes in the answer figure CANMNOCT be made based on the unfolded cube in the
question figure?

+.
EHEXIT]

O




2. %

Y
T
4 &

Question Number : 17 Question Id : 9662317041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
JOC AT H o O @ U Sgid B U O o ST O AR a1l AT qed T 57

I
X
O

Options:

_/_

. O:

7Ly
3w —I_
4

Question Number : 18 Question Id : 9662317042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:
H QY
N | X
1 |0 S

M

N
w
B

=<
T O
=

Question Number : 18 Question Id : 9662317042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
H QY
N
1 |0 S

M

N
w
B

>
%
=
@]

=<
T O
=




Question Number : 19 Question Id : 9662317043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT T AT+ H HT o QT FT

\

)

Options:

P
]

3. ¢ 1::(
B(
4 ®

Question Number : 19 Question Id : 9662317043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

\

)

Options:

,_.
8



% o Eﬂ(
B(
4 %

Question Number : 20 Question Id : 9662317044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& piece of paper is folded and punched as shown below in the question figures. From the given answer
figures, indicate how it will appear when openead.

Options:

Question Number : 20 Question Id : 9662317044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Gereral Awarerness
Group Number : 2
Group Id : 966231145
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarerness
Section Id : 966231260
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231284
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662317045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the f-:}ll-::-wing states Baut Nacha dance 15 associated?

Options:

1. ¥ Chattisgarh

Z % Assam

3. % Arunachal Pradesh
4. % Bihar

Question Number : 21 Question Id : 9662317045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3T AT o PR # | e T & Jrr 4218

Options:

1. & geitag

2. % ey

S R SR e

4 % TER

Question Number : 22 Question Id : 9662317046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following state is JThoda foll music related to?

Options:

1. ® Hirnachal Pradesh
Z % Assam

3. ¥ Uttarakhand

4. % Goa

Question Number : 22 Question Id : 9662317046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaimET & 9 & Teg & |Jwr fisT diw ariid dered g7
Options:

1. ¥ Bu=Ee ne

2. % g

3 ¥ TIEE

4. % TirEm



Question Number : 23 Question Id : 9662317047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sekrenyi festival, which is a 10 day celebration signifying purification and sanctification, is associated with
which of the following states?

Options:

1. ¥ Nagaland

2. % Himachal Pradesh
I % Assam

4. # Manipur

Question Number : 23 Question Id : 9662317047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el TR, A1 T gy ofl% ufemar @ gaie arer 10 foqt @ 3oaa g, gl o & B e & are 2187
Options:

1. ¥ ameiE

o % e nda

= % argH

4 % g

Question Number : 24 Question Id : 9662317048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following banks primarily focuses on the developrnent of MSME (Micro, Small and Medium
Enterprise) sector?

Options:

1. % SEI

2. % SIDEI

3. % NABARD
4. % REI

Question Number : 24 Question Id : 9662317048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTeET O & = A e e ®0 9 MSME (5T, Y 3T 72y J2m) 5= @ feme o @i 27

Options:

1. % w7 e ofTw iz

2 XA Y FET e dw
3. ® PR i o i e
4 % yrdtg foad dw

Question Number : 25 Question Id : 9662317049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which armorng the following is a tax that is levied on the basis of value?

Options:
1. # Specific Duty
2. % Progressive tax



I. % Excise duty
4 % Ad Valorem tax

Question Number : 25 Question Id : 9662317049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEAET # & & A7 0T @ g A 35 @ SR O T AT g7

Options:

1. % fatde gew

2, % IR T
3. ® IUE gFw

4. ¥ U= JANA o

Question Number : 26 Question Id : 9662317050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Bovle's Law, which of the following is constant?

Options:
1. ¥ PV
= ®yIT
3. % PT
4 % PIT

Question Number : 26 Question Id : 9662317050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

a1 & VT & arger, et § & e o W §7
Options:

1. ¥ PV

2. % VT

3 % PT

4, % PIT

Question Number : 27 Question Id : 9662317051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the rod shaped bacteria called?

Options:

1. % Coccus
= ¥ Bacillus
2. ® Vibrium

4. % Spirillium

Question Number : 27 Question Id : 9662317051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TZ o ST o IET0] 1 I gl AATaT 57
Options:

1. % Fwd



2. 4T
3. ¥ gElo
4. % Teofefery

Question Number : 28 Question Id : 9662317052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is the longest strait of the world?

Options:

1. ¥ Strait of Malacca
= % Denmark Strait
2. ® Sunda Strait

4. % Bering Strait

Question Number : 28 Question Id : 9662317052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & 1 | G- & el wiell SesHeH 37

Options:

1. ¥ AAgT AASHEAET
o % IR TASHEALT
3. % gETIdsHEREd
4. % T AAEAEAE

Question Number : 29 Question Id : 9662317053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Pandoh Dam located?

Options:

1. % Azsam

= % Maharashtra

3. % Gujarat

4 % Himachal Pradesh

Question Number : 29 Question Id : 9662317053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ey aty R § 4 e e e
Options:

1. % a9y

2. ® WY
3 ® TR
4. & TR nda

Question Number : 30 Question Id : 9662317054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the fDllD\-'-.?'iﬂg states 15 the Karakoram mouritain range located?

Options:



1. ¥ Jamrmu and Kashrmir
= % Meghalava
2. * Manipur

4 % Aszsam

Question Number : 30 Question Id : 9662317054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T A Tela e gl # & e vea o fedm 82

Options:

1. & 7 &K TR
2. % TEmEg

3. % g

4 % a1

Question Number : 31 Question Id : 9662317055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was Subash Chandra Bose elected as the president of Indian Mational COngress?

Options:

1. % 1920
=z ¥ 1938
3. % 1935
4 % 1932

Question Number : 31 Question Id : 9662317055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT =g, & 9 BT W 127 T 17 I o 72Ty & &0 U el =7 177 20717

Options:

1. % 1930
2. ¥ 1938
3. % 1935

4. % 1932

Question Number : 32 Question Id : 9662317056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hurrayun was succeeded by

Options:

1. ¥ Akbar

= % Jahangir

3. % Babur

4. % Shah Jahan

Question Number : 32 Question Id : 9662317056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. ¥ aer
2. ® FEmie
3 % gy
4, % g =gl

Question Number : 33 Question Id : 9662317057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
when was the battle of Chausa fought?

Options:

1. % 1535
2 ¥ 1539
3. % 1545
4 % 1580

Question Number : 33 Question Id : 9662317057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T g el ST TTT 477

Options:

1. % 1535
z ¥ 15239
3. % 1545

4. % 1560

Question Number : 34 Question Id : 9662317058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who among the following is the secretary general of the United MNations?

Options:

1. * Yonow Frederick Agah
2. % Roberto Azevedo

3. ¥ Antonio Guterres

4 % Karl Erauner

Question Number : 34 Question Id : 9662317058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl § 8 &9 9% O & A5aed a7

Options:

1. % T i ey
2 ® el aEEm

3. ¥ R TR

4. % FTH AT

Question Number : 35 Question Id : 9662317059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ehanu Athaiva worl an oscar in 1982, She was a/an
Options:
1. ® actress

2. * filmmaker
2. ¥ costume designer

4. % gound designer

Question Number : 35 Question Id : 9662317059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT AT = 1982 H U ATewd SigTem a5 UF ________ o
Options:

1. % arieET

o ® foren fmfar

z. ¥ Fieay E9ET

4. ® iy EemE-

Question Number : 36 Question Id : 9662317060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which amendment established National Comrmission for Bacloward Classes?

Options:
1. % 101
= ¥ 102
3. % 98
4. % 97

Question Number : 36 Question Id : 9662317060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Harte = TUw2 @i & Ton e i S T e

Options:
1. % 101
2 ¥ 102
3. % 98
4 % g7

Question Number : 37 Question Id : 9662317061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concept of Fundamental Duties of the Indian Constitution is borrowed from the constitution of

Options:

1. #¥ Germany
o % 1ISA

3. % Britain

4. % Tnion of Soviet Socialist Republics

Question Number : 37 Question Id : 9662317061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TS 1 | & Hileir oid el & ST o e & #T T8 21

Options:

1. % St

2 R gE U=

3. % e

4. & HIfETT TATATT T AT & a9

Question Number : 38 Question Id : 9662317062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The _______ schedule of the Indian Constitution contains the Forms of Oaths or Affirmations.

Options:

1. ® Fifth
= % Second
3. % Third
4. % Fourth

Question Number : 38 Question Id : 9662317062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aRdT A A ST # ST a7 g 3 U e 8
Options:

1. % Omdr

2. % gud

3. ¥ dter

4 % e

Question Number : 39 Question Id : 9662317063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following teams was the first winner of the Premier Badminton League?

Options:

1. % Delhi Dashers

Z % Murmbai Rockets

3. # Bengaluru Raptors
4. ¥ Hyderabad Hotshots

Question Number : 39 Question Id : 9662317063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEeET § & 21 | S Wi S e o & agal T 417

Options:

1. ® ferer 2o

2 % gas T

3 % e e

4. ¥ ZarEng gledied



Question Number : 40 Question Id : 9662317064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Merdeka Cup is associated with which of the following sports?

Options:

1. ¥ Football
= % Golf

3. % Hockey

4 % Badminton

Question Number : 40 Question Id : 9662317064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HEHT w0 AHieEd | & T de & a2 87

Options:

1. & e

2. % Teh

3. ®

4 % gEfET

Arithrnetic Ability

Group Number : 3

Group Id : 966231146

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrmetic Ability

Section Id : 966231261
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 966231285
Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 9662317065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the value of: V((14.7/2.1)*14/2).
Options:
1.¥7
> % 3
3. % g
4. % 10

Question Number : 41 Question Id : 9662317065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

V((14.7/2.1)14/2), &1 A ATd Cogl
Options:
1.¥7
2. % g
3% 9
4 % 10

Question Number : 42 Question Id : 9662317066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the greatest nurmnber that will divide 26, 64 and 92 and so as to leave the same remeinder in each case.

Options:
1. %7
2 % 21
. ¥ 28
4 % 14

Question Number : 42 Question Id : 9662317066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a5 Tat aa | TEdT o ® AT 36, 64 3T 92 T 59 a¥g [AThaa @0 ToF nede AT § U 77 9% &t 1)

Options:
1. %7
2. % 21
3. ¥ 2R
4 % 14

Question Number : 43 Question Id : 9662317067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhat is the result when 0.2632632636 .. is converted to a fraction?
Options:

1.% 1111



2 % 19
3. v 411
4. % 49

Question Number : 43 Question Id : 9662317067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT U 10T e O, 36363636, 1 UF &9 H uididd [T JaT 87

Options:

Question Number : 44 Question Id : 9662317068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average monthly income of P and & is BEs. 3200, average monthly income of & and R is Bs. 2600 and the
average monthly income of R and P is Rs. 2500, What is total monthly income of P, @ and R? (in Rs)

Options:

1. % Rs 9,700
2. % Es. 10,200
2 % Rs 10,500

4. % Rs 10,700

Question Number : 44 Question Id : 9662317068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P 2 O T 2T AT a9 3200 T0 8, G W R & 9T ATiEe S 2600 T E MY, B AT P @ ofieT Ariee A 2500
T R P, 3N R @1 el AT ST 97 57 (30 )

Options:

1. % 9 700 ¥
2. ¥ 10,300 ¥4
% % 10,500 7
4. % 10,700 w0

Question Number : 45 Question Id : 9662317069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A good 15 marked up by 33.33%, at most how much discount can be allowed 50 a5 to netther have a gain nor a
loss?

Options:

1. % 125 percent
2. % 32333 percent
3. 9 25 percent

4. % 20 percent

Question Number : 45 Question Id : 9662317069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

T T%q 1 H 0T & 33.33% S0 R [T AT 3, Hae arfeer foha - g¢ @i argaid of AT 9@d | ¢ a1 9 a1 ard gf ofw T 57
EERIERAR

Options:

1. % 125 uidad

2 % 3333 uie

3. ¥ 2SOidaT

4 ® oo

Question Number : 46 Question Id : 9662317070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& fruit seller had sorme mangoes. He sells 40% mangoes and still has 480 mangoes left. How rmany mangoes
did he criginally hawe?

Options:

1.9 800
2. % 240
2% 720
4. % 75

Question Number : 46 Question Id : 9662317070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T el Tl T o U 0 S1T0 €1 o 40% 310 s=dT & e anit ot 38 ure 450 a0 o= 81 g9 &9 & 364 U fra- oy 27

Options:

1.9 300
2. % 240
3% 720

4 % 750

Question Number : 47 Question Id : 9662317071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A student scores 82% in an examination. His scores were 69, 99, 71, 92 in 4 subjects. Find his score in the Sth
subject.

Options:
1. % 94
2. % 96
3.9 79
4 % 100

Question Number : 47 Question Id : 9662317071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 e T H §2% 21 0TH F7aT 51 < et § 39 e 69, 99, 71, 92 9 5 & Twg § g o J19 34

Options:
1. % 94

2. % 96
3. ¥ 79



4. % 100

Question Number : 48 Question Id : 9662317072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ bought goods worth Bs. 6500, He gets a rebate of 8% on it. After getting the rebate, he pays sales tax at the
rate of 10% What is the final amount that he has to pay?

Options:

1. % Es EBES
2. % Rs 6572
2. ¥ Rs 6573

4 % Hs £5E4

Question Number : 48 Question Id : 9662317072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ T 8500 T HT ATH GOSN I9 TH W 8% F1 ge e’ 31 9% g7 e & aTe, 9% 10% UT TeklT @ &7 o= FaT 5 9% Silew
HARTIET T 5 e 8 YT AT 57 & &

Options:

1. % 6565 7
2 ® G572 T
3. ¥ G575 T
4, % gSR4 w

Question Number : 49 Question Id : 9662317073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ bought 15 dozens of toys at Bs. 200 per dozen. Each toy was sold for Rs. 20, What is the profit percentage?

Options:

1. % 125 percent
2. % 20 percent
2. % 25 percent

4. % 33 33 percent

Question Number : 49 Question Id : 9662317073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
K 300 ¥ 0T 2o & AT & 15 S FEdi Jiid] Weder e T 20 202 § =T TN @7 Wi o &4 57

Options:

1. % 125 qifew
2. ¥ 20 nidaT

3. % 20 OideT

4, % 3333 0daT

Question Number : 50 Question Id : 9662317074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the fourth proportional 192 : 176 1807

Options:



1. % 135
2 % 175
3% 190
4. ¥ 185

Question Number : 50 Question Id : 9662317074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T S @ 1920 176 180 7

Options:

1. % 135
2. % 175
= % 130

4. ¥ 165

Question Number : 51 Question Id : 9662317075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& school has 200 students with the ratio of boys and girls being 3 : 2, 60 new students were given adrmission
and the ratio changed to 7 : €. Find the number of girls who had taken adrmission.

Options:
1. ¥ 40
2. % 20
3% 45
4 % 25

Question Number : 51 Question Id : 9662317075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T o rewl o Aeeal o7 = zﬁagmﬁzoom%ﬁ B0 T T T Welar e TR &I a2 SguTd 70 6 BT IR
Hﬂ%fﬁmmﬁﬁﬁuﬁﬂ

Options:
1.9 40
2. % 20
3% 45
4 % 25

Question Number : 52 Question Id : 9662317076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sum of 2 numbers is 176, The ratio of the first to second is & ¢ € and that of second to third is 100 11,
Find the first number.

Options:
1. ¥ 50
2. % B0
3% G5
4 % E6



Question Number : 52 Question Id : 9662317076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= s AT 176 §1 Ugell | GOl §edT @1 Siud 5 0 6 § S gaer | fieT dearstt @7 argurd 10 0 11 81 Ugell 61 A
Gl

Options:
1.9 50
2. % B0
3. % G5
4 % BB

Question Number : 53 Question Id : 9662317077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ took a loan of Rs. 4000 with sirmple interest for as many yvears as the rate of interest. If he paid Rs. 1210 as
interest at the end of the period, what was the rate of the interest?

Options:

1. % 45 percent
Z % 5 & percent
3. % 6.5 percent
4 % 75 percent

Question Number : 53 Question Id : 9662317077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ 7 =T B o FAa gt o T ST 24T U 4000 F T S0 o O 39 I9 Ay F g Heam e H 1210 T
ERAICICREE G D e S

Options:

1. % 4 5ufdaa
o ¥ 5 S Aidae
3. % 5.5 uidad

4 ® 7cuidud

Question Number : 54 Question Id : 9662317078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A worker travelled a distance of 81 kmin 11 hours. He travelled partly by foot at the rate of 4.5 kmjh and
partly by bicycle at the rate of 15 krmjh. What is the distance travelled on bicycle?

Options:

1. % Z0km
2 % 375km
3. ¥ 45 km
4 % 52 5km

Question Number : 54 Question Id : 9662317078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U wEEAT A 11 g9 H 81 kan & S0 79 FaT 51 I TiEE = & f2d 4.5 ki h % anfde ®7 & |@Eied 0w 15 kmjh &
T & ATAT BaT §1 WG iehel U q 1 TS gef Topast g7

Options:



1. ® 30km
2 % 37 5km
3. ¥ 45 km
4 ® 525 km

Question Number : 55 Question Id : 9662317079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A Band Ccandoa jobin 16, 20 and 24 days respectively. In how many days can A do the work if he is
assisted by E and  every fourth day?

Options:
1.9 11.7
2. % 1185
3% 12
4 % 1225

Question Number : 55 Question Id : 9662317079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, B T C@H 16, 20 o 24 Taat # uer @0 @ 9 T 81 A A #TEE 9 T B oY C grT weraT or St B At A Free
ot # ag @ o a@Far 57

Options:
1.v¥11.7
2 % 1185
2% 12
4 % 1225

Question Number : 56 Question Id : 9662317080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & can do a work in 42 days and E is thrice as efficient as 4. In how many days more will the work be
completed if B joins 4 on the 22nd day?

Options:
1. %5
2. % 5125
2. % L5175
4 ¥ 525

Question Number : 56 Question Id : 9662317080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, 42 Tedt o Uw T W a1 WRE, A H /WA gaw 8 A B, 22 df T A G FaT 8 91 95 F e At § @y g

Options:

1. %5

2 % L5125
3. % 5175
4 & 525



Question Number : 57 Question Id : 9662317081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The diagonal of a floor of a rectangular tub is 7.5 ft. The longer side of the tub is & ft. What is the area of the
tub’?

Options:

1.9 27 sq.ft.

2. % 303 fr
2% 45 50 ft.

4. % 337530 ft

Question Number : 57 Question Id : 9662317081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U ATATHE oo o T o7 Tl 7.5 ft. 31 39 o &1 dlal [Bear & ft. 81 7 7 SF%d &2 §IT?

Options:

1.9 27 sq.ft.

2. % 30sq.ft

3. % 45 =g ft

4 % 3375 s0.ft.

Question Number : 58 Question Id : 9662317082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sphere of radius 10 cm is melted and made into a cone of height 10 cm. Find the diameter of the cone.

Options:

1. % 10cm
2. % 20cm
3. ¥ 40 cm

4. % B0cm

Question Number : 58 Question Id : 9662317082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
10 crn =T amet Ue Tiiet &1 TOaames 10 crn & SaTe ST S5 o127 SATaT g1 g 1 eTd AT 6

Options:

1. % 10cm
2. % 20cm
3. ¥ 40 cm

4. ¥ B0 cm

Question Number : 59 Question Id : 9662317083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following pie chart shows the expenditure of an individual on different items. If the expenditure on home
loan is Bs. 50,000 more than the expenditure on education, then what is the expenditure of the individual on
clothing?

Expenditure of an individual

Travelling
12%

Options:

1. % Rs. 90,000
2. % Rs. 65,000
% % Rs 55,000
4. % Rs. 80,000

Question Number : 59 Question Id : 9662317083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TS oTE U Atk G ATy Aot oY TR T e et ST 81 ST g J0T U% Rt e 1T oy TR == & 50,000 e srfde
%, 71 o =i Fust o7 fraar = awar 27

et =ufda &1 =

Options:

1. % 90,000 79
2. % 55,000
3. % 55 000 T
4. % 50,000 =

Question Number : 60 Question Id : 9662317084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following bar graph shows the production (in million tonnes) of two companies & and B over different
years. What is the percentage increase in the production of Cornpany & and B from 2016 to 20187

g B Company & ® Company B
=
% 400 350 360
® a0 a5
2 190
5 E 200 150
£ o I I
2 0
2015 2016 2017
Year

Options:

1. % 150 percent and 85.71 percent
2. % 125 percent and 97.5 percent
3. % 115 percent and 87.5 percent
4. % 105 percent and §2.51 percent

Question Number : 60 Question Id : 9662317084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g = T T2y et # S it A oW E & IoueA (Wiemm e /) ;e gafar 9 2016 ¥ 2018 Iw AT A W E &F Jeuea |
T W9 Jhy 74T 87

SgEgsl A TH9At B
E 400 350 360 3’
=]
% 300
- Eiﬂ'ﬂ
5 ]

ﬂ
Options:

1. % 150 affarT afiv 55.71 widam
2. % 125 Uidad o 97 S niae
3. % 115 OfdaT T 7.5 oidaT
4. % 105 0T &R 82.51 wiae

reneral English

Group Number : 4

Group Id : 966231147
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English

Section Id : 966231262

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231286
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662317085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&1 Shailesh prormised [ (E) that he would do it [ (C) on the next day. | O No error
Options:
1. % 4
2. % E
2V
4 % D

Question Number : 61 Question Id : 9662317085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

&) Shailesh prorused [ E) that he would do it [ 0C on the next day. | O No error
Options:
1. % 4
2. % B
IV
4 % D

Question Number : 62 Question Id : 9662317086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Students can go through the prospectus | for additional informations about | the institution and the course of
their choice. | Mo Error

Options:

1. ® Students can go through the prospectus

2. ¥ for additional informations about

2. % the institution and the course of their choice.
4. % Mo Error

Question Number : 62 Question Id : 9662317086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Students can go through the prospectus | for additional informations about | the institution and the course of
their chioice, | Mo Error

Options:

1. % Students can go through the prospectus

= % for additional informations about

2. % the institution and the course of their choice.
4. % Mo Error

Question Number : 63 Question Id : 9662317087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

You should work hard {n) weekends.
Options:

1. * from

2 ® at

2. ¥ during

4. ® yiath

Question Number : 63 Question Id : 9662317087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

o should work hard (in) weelends.
Options:
1. # from

2. % at
2. ¥ during
4. # yith

Question Number : 64 Question Id : 9662317088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Select the option that can correctly replace the highlighted word or phrase and make the sentence
grammatically correct. Select the TNo correction required' option if the sentence is correct as it is given.

Mr. and Mrs. Singh have been married (since) thirty years.
Options:

1. % from

2. % till

2% for

4. % until

Question Number : 64 Question Id : 9662317088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that can correctly replace the highlighted word or phrase and malke the sentence
grammatically correct. Select the Mo correction required' option if the sentence is correct as it is given.

Mr. and Mrs. Singh have been married (since) thirty years.
Options:

1. ® from

2. % till

3% for

4. * until

Question Number : 65 Question Id : 9662317089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that correctly (and most appropriately) fills in the blank and cormpletes the serntence Delow,

The thief has fallen ____ with his partners.
Options:

1. % in

2. % on

3% out

4. % off

Question Number : 65 Question Id : 9662317089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly (and most appropriately) fills in the blank and completes the sentence below.

The thief has fallen with his partners.
Options:

1. %in

2. % on

2 ¥ out

4 % off

Question Number : 66 Question Id : 9662317090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Surrarn

F : than she was today

) opportunities, which would
E : had missed many

5 hawe rmade her mach happier

Options:

1. % OS5PR
2. % PR5SCQ
2 ¥ ROSF
4 % SORP

Question Number : 66 Question Id : 9662317090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Jurnar

F : than she was today

) opportunities, which would
E : had missed many

5 hawve mmade her muach happier

Options:

1. % QS5PR
2. % PR5SCQ
2 ¥ ROSF
4 % SORP

Question Number : 67 Question Id : 9662317091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

Fesilient
Options:

1. ¥ Flexible
2. % Silence
= % Hard

4. % Smart

Question Number : 67 Question Id : 9662317091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which best expresses the meaning of the Ziver word.

Eesiliert
Options:
1. % Flexible

o % Silerice



2. % Hard

4 % Srhart

Question Number : 68 Question Id : 9662317092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPPOSITE in meaning to the given word,

Valor
Options:

1. * Implore
2. ¥ Fear

3. % Bravery

4 % nattractive

Question Number : 68 Question Id : 9662317092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Walor
Options:

1. #¥ Implore
= ¥ Fear

3. ® Bravery

4. % Unattractive

Question Number : 69 Question Id : 9662317093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. % Agrandize

2 ® Acrandise

2. % Agorendise
4 ¥ pAggrandize

Question Number : 69 Question Id : 9662317093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Agrandize

= % Agrandise

3. % Aggrendise
4. ¥ pgorandize

Question Number : 70 Question Id : 9662317094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. # Dibelitating

Z. % Debeletating

3. % Debelitating

4. ¥ Debilitating

Question Number : 70 Question Id : 9662317094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. # Dibelitating

2. % Debeletating

2. % Debelitating

4 ¥ Debilitating

Question Number : 71 Question Id : 9662317095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Cormmensurate
= % Comensurate
3. ® Comensuarte

4. % Corrmensuarte

Question Number : 71 Question Id : 9662317095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. % Cormmensurate

2. # Comensurate

3. ® Comensuarte

4 #* Comrmensuarts

Question Number : 72 Question Id : 9662317096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

Kith and ¥Kin
Options:

1. % Here and there
2. % MNow and then
2. % Hustle

4 % Blood Relatives



Question Number : 72 Question Id : 9662317096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

Kith and ¥Kin
Options:

1. # Here and there
2. * MNow and then
3. % Hustle

4 % Blood Relatives

Question Number : 73 Question Id : 9662317097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

Zhiclken hearted man
Options:

1. % A brave person.

Z ¥ A coward persorn.

3. % An innocent person.
4. % A blind person.

Question Number : 73 Question Id : 9662317097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllOW‘iI]g 1dicrr mean’

hicken hearted man
Options:

1. % A brave person.

2. ¥ A coward persorn.

3. ¥ An iNnocent person.
4. % A blind person.

Question Number : 74 Question Id : 9662317098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | sentences.

An abnormal fear of heights
Options:

1. % Algophobia

2. % Cacophobia

3. % Cellophobia

4.9 Altophobia



Question Number : 74 Question Id : 9662317098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | senterices.

An abnormal fear of heights
Options:

1. % Algophobia

2. % Cacophobia

2. % Cellophobia

4 ¥ Altophobia

Question Number : 75 Question Id : 9662317099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
wiords | sentences.

& person who knows and 15 able to use several languages.
Options:

1. * Epicure

= ¥ Polyglot

3. % Stoic

4. % Debonair

Question Number : 75 Question Id : 9662317099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words | sentences.

& person who knows and is able to use several languages.
Options:

1. * Epicure

= ¥ Polyglot

2. % Stoic

4. % Debonair

Sub-Section Number: 2
Sub-Section 1d: 966231287
Question Shuffling Allowed : Yes

Question Id : 9662317100 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the passage carefully and answer the given question:

The Olyripic Garnes is an international mualtisport event subdivided into surrrner and winter sporting events.
The surmmer and winter games are each held every four years. Until 1992, they are both held in the same vear.
Since then, they have been separated two yvears apart. The original Olyrmpic Garmes began in 776 B.C.in
Olympia, Greece, and were celebrated until &4 D. 393, Evangelos Zappas sponsored the first modern
International Olympic in 1859, The International Olympic Cormrnittes was founded in 1894 on the initiative of
a French noblemarn, Pierre Fredy Baron de Coubertin. The first of [OC's Olympic Games were 1896 Surrmer
Clyrmnpics, held in Athens, Greece. Participation in the Olympic Games has increased to include athletes from
nearly all nations worldwide, With the improvernent of satellite cormrmunications and global telecasts of the
evenits, the Olympics are Consistently gaining supporters.

Sub questions

Question Number : 76 Question Id : 9662317101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The surmmer and winter sporting events of Olympics occurs with a gap of

Options:

1. % three
2. ¥ two
3% five

4 % four

VEATS.

Question Number : 77 Question Id : 9662317102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
when did the original Olympic Games begin?

Options:

1. ¥ PFEB.C
2. % 292 4D
2% 1894

4 % 1396

Question Number : 78 Question Id : 9662317103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who sponsorad the first modern International Olyrpic?y

Options:

1. % Pierre Fredy Baron de Coubertin
2. % Pierre Zappas

2. % Evangelos Zappas

4. % Michel Temer

Question Number : 79 Question Id : 9662317104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhern was the International Olyrpic Comrnittee founded?

Options:
1. % 18496

2 % 1859
29 1594



4. ® 776 B.C.

Question Number : 80 Question Id : 9662317105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where was the first International Olyrnpic Corrmnittes's Olyrmpic Garnes held?

Options:
1. % Santorini

2. % France
= % Olympia
4. % Athens

Question Id : 9662317100 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the passage carefully and answer the given question:

The Olyrmpic Garmes is an international multisport event subdivided into surmrmner and winter Sporting evernts.
The summer and winter games are each held every four yvears. Until 1992, they are both held in the same vear.
Since then, they have been separated two years apart. The original Olyrmpic Games hegan in 776 B.C. in
Olympia, Greece, and were celebrated until &4 D. 393, Evangelos Zappas sponsored the first modern
International Clympic in 1859, The International Clympic Cormmittee was founded in 1894 on the initiative of
a French noblemarn, Pierre Fredy Baron de Coubertin. The first of [OC's Olympic Games were 1896 Surrmer
Clyrmnpics, held in Athens, Greece. Participation in the Olympic Games has increased to include athletes from
nearly all nations worldwide, With the improvernent of satellite cormrmunications and global telecasts of the
events, the Qlympics are Consistently gaining supporters.

Sub questions

Question Number : 76 Question Id : 9662317101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The surrmmer and winter sporting events of Clympics occurs with a gap of TEATS.

Options:

1. % three
2.9 two
2% five

4 % four

Question Number : 77 Question Id : 9662317102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the original Olympic Games beagin?

Options:
1. ¥ 77EB.C

2 % Z92AD
2% 1894
4 % 1396

Question Number : 78 Question Id : 9662317103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



who sponsored the first modern International Olyrmpic?
Options:

1. ¥ Pierre Fredy Baron de Coubertin

= % Pierre Zappas

2. ¥ Evangelos Zappas

4. % Michel Termner

Question Number : 79 Question Id : 9662317104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the International Olvripic Cormurittes founded?

Options:

1. % 1398

2 % 1859

3. ¥ 1894

4 % FFEBC.

Question Number : 80 Question Id : 9662317105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Where was the first International Clympic Comrnittee's Olympic Games held?
Options:

1. ¥ Santorini

Z. % France

2. % Clympia

4. ¥ Athens
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Question Number : 81 Question Id : 9662317106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToiefET ng | ov Mot # 9, 39 Heey @71 939 &6 S 30 & a97 21

Options:

1. % Hgm
2 o uidga
3. ® o

4, ® UIEN

Question Number : 81 Question Id : 9662317106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  gr Teet # € 39 Been @1 50T 1 S 30 & 297 81

Options:

1. % dEre
2 ¥ uidga
z. % wEw

4 ® TR

Question Number : 82 Question Id : 9662317107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafmET ng §, o Teent § 8, 39 51 Dwed @7 a9 @ AT Wo F J47 Aeg 7

Options:

1. & ueida
= R o
3. % o
4 % T

Question Number : 82 Question Id : 9662317107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET vg §, o e § 9, 39 el Dwed &7 29§ AT We F @47 4eS 7

Options:

1. & yaridg
o ® e
z. %
4 % frafy



Question Number : 83 Question Id : 9662317108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty ng o, o et § 9, e v & o Mdagaw I fomed &7 a9 #4

Options:

1. ¢ Teaga
o % gl

Z. % FEwE
4. % FE

Question Number : 83 Question Id : 9662317108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

Options:

1. ¢ Temge
2. % gl

3. % g gwm
4. % &g

Question Number : 84 Question Id : 9662317109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Traierad ng /. o fowedt 8 9, 39 ooy &1 o @ A1 gl T a8 @1 e g

Options:

1. % e ®=Aa

2. o 19 At F aEET
3 % ik o AR

4. % g ag

Question Number : 84 Question Id : 9662317109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FamET ng 8, ox Hweat # €, 39 Twew o1 009 w1 1 agt ] awm & Hwe g

Options:
1. ¥ Jiar a0

2. o 19 Awt 1 AT
3. % i & argER
4 % ga g

Question Number : 85 Question Id : 9662317110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o ng #, oW Hwedt § 9, 39 Hwed @ 9a9 & A1 aARit d5g @7 957 Haed Tal 8]

Options:



1. % e
2 % Joae
I A
4. % mH

Question Number : 85 Question Id : 9662317110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v §, o et § 8, 39 Soen @7 =" & A7 GaRiT See o7 |1 Swed a1 5l

10
Options:

1. % Feaw
2. % JoOe
3. ¥ oA
4. % 6

Question Number : 86 Question Id : 9662317111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng # ow wedt § & 30 @y 371 a9 & A1 BT Jeg @7 qae s=aT [d@e 5

ST
Options:

1. % &g
2. % gugEa
3% IO

4, & TR

Question Number : 86 Question Id : 9662317111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TacRET ng # oW feed! # 9, 39 ey @71 909 & 91 e T=g B 9949 SRaT [d@ed o)

S
Options:

1. % @y
> % gme
3% Ov

4. e

Question Number : 87 Question Id : 9662317112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg H, ox Hwent # €, e s & W Fdager IRE Heew ®1 o9a 774

Al . T3 Al o FA THHT GraxaT AT TET A
Options:
1. % @7
2. ¥



3. ® FEnT
4 ® g

Question Number : 87 Question Id : 9662317112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET ng H, ox Tweat # €, e s & W Feager IRT ey # o9e 75

Al . T3 |l T e THHT GraxaT agT TET A
Options:

1. % @7

2. T

3. ® rgnT

4 %

Question Number : 88 Question Id : 9662317113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fwed! § 9, 39 d51 Twed @7 a9 & 1 aeaiat & @0 UF deg @7 Tded 5

AT AT T o o o] aAg
Options:

1. % amTg

2. % me

3. Tl

4. % T

Question Number : 88 Question Id : 9662317113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # 4 39 987 Been &1 oa9 F5 S1 aeriat & 90 o g @ B gn

AT S T o o= BT AT
Options:

1. % amTg

2. ¥ mey

3. & TreiE

4. ¥ TR

Question Number : 89 Question Id : 9662317114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET ng H, ox Tweat # €, e s & W Feager IRT ey # o9e 75

Options:

1. %
o ¥ AETE
3 ® S
4. ¥ TIE



Question Number : 89 Question Id : 9662317114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

Options:

1. % T
2 ¥ AETE
3. % S
4. % T g

Question Number : 90 Question Id : 9662317115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeiaT ng | ow Owedt § 7, 30 9wy 1 o9 o AT 95t a9 98 #7 TweT g

# S1T0 T BIH FEL T ST H BT o] e 00 &
Options:

1. % e g

2 ggm g

3. ¥ Terego T

4 % Trep ETeRT

Question Number : 90 Question Id : 9662317115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 e o7 90T @ S 98T Gy 9 ®7 Hwed g

3T T HH T FE LT AT FIT FE 08T 5
Options:

1. % @t gy

2 ¥ Tgm aErd

z. % TerrgoE T

4 ¥ repEmerm

Question Number : 91 Question Id : 9662317116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey v §, o Teenl § & 39 fSeen o1 94" & 1 g8l a1 9 &7 fdweT gh

I A5 HgAd i off Sy ag e § e amem
Options:

1. & Hgm aea

2. % ghadmEd ameg

3. % o

4. ¥ HIA T

Question Number : 91 Question Id : 9662317116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
AT v ar Teent # € 39 Beey @ 50T w1 S 95T Gy 9 @7 Heed gh

TG gd HgAd ol 2T SHIGT o BT H I ST
Options:

1. Hgw aeg

2. ® HggaEd g

3. ® iy A

4. ® WA g

Question Number : 92 Question Id : 9662317117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey v §, o Teenl § & 39 fSeen o1 94" & 1 g8l a1 9 &7 fdweT gh

S BT AT AT T A 39 feme
Options:

1. ¥ fEermeamer areg

2. % g g

. ¢ Toer e

4 R ggE g

Question Number : 92 Question Id : 9662317117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeiaT ng | ow Owedt § 7, 30 9wy 1 o9 o AT 95t a9 98 #7 TweT g

A BT AT AT S &g 34 Tene T
Options:

1. % {rerame amE

= ® | A1

3. o T am

4 % ggm GEd

Question Number : 93 Question Id : 9662317118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 9662317118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



oty va §, ox Seedt § €, 39 Swey @ o9 = 1 oy my ggrat @1 a5t anf arer Hee g1
STt Wt

Options:

1. ® TT&d FTA

2 ¢ T
3. % g ot gum T A
4, % ZFeRT faETm

Question Number : 94 Question Id : 9662317119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 9662317119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 9662317120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 9662317120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 966231289
Question Shuffling Allowed : Yes

Question Id : 9662317121 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Question Number : 96 Question Id : 9662317122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 9662317123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 9662317124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 9662317125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 9662317126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 9662317121 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Question Number : 96 Question Id : 9662317122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 9662317124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 9662317125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 9662317126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Id : 966231149
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Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231290
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662317127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is at the highest level according to Maslow’s hierarchy of human needs?

Options:
; = Physiological needs

- o Self-actualisation needs

- u Love and belongingness

4 = Safety and security

Question Number : 101 Question Id : 9662317127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 9662317128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is value clarification?



Options:

, « Process of identifying, examining and developing one’s own individual values

- u Process of identifying and examining the values of other individuals

- w Process of explaining/describing values of a person

4 = Process of identifying and developing social values

Question Number : 102 Question Id : 9662317128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 9662317129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following occurrences does a nurse have to observe for, in vagal nerve stimulation while removing fecal
impaction?

Options:

, = Tachycardia

> % Pain

- = Elevated body temperature

4  Bradycardia

Question Number : 103 Question Id : 9662317129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 9662317130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ongoing assessment process integrated with nursing care is known as:
Options:

1 % initial assessment

- « problem-focussed assessment

3 % emergency assessment

4 w time-lapsed assessment

Question Number : 104 Question Id : 9662317130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 9662317131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following intravenous solutions can cause cellular oedema if it is administered rapidly?
Options:

1 % Isotonic

> w Hypertonic

= % Isomeilric

4 « Hypotonic

Question Number : 105 Question Id : 9662317131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & FfhE R I W, Feees # ¥ #iF @ @R o Seen TRAT # SR0T a9 @@ 87

Options:

| » 3TEHEEIHR
o % HATRER (FFIREN )

Question Number : 106 Question Id : 9662317132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Continuous musical sounds heard on expiration are called:

Options:
1 % crackles

> « Wheezes
= % bronchial sounds

4 = pleural friction rub

Question Number : 106 Question Id : 9662317132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 9662317133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the temperature is 40° Celsius, then what is the temperature in Fahrenheit?

Options:
1 ® 102

> % 103
s v 104

4 % 105

Question Number : 107 Question Id ;: 9662317133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 9662317134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following findings of an abdominal auscultation should a nurse report immediately to the doctor?

Options:



1 « Loud bruit over the aortic area
- % Absence of arterial bruits
= % Absence of bowel sounds for 20 seconds

4 = High pitched bowel sounds

Question Number : 108 Question Id : 9662317134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 9662317135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the purpose of a retention enema?
Options:

» 1o empty the bowel

Do

-  To soften the hardened faeces and gently stimulate the peristalsis

5 w Torelieve distension caused by flatus

4 % To reduce bowel action

Question Number : 109 Question Id : 9662317135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 9662317136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By performing which of the following actions can a nurse increase the base of support?

Options:
, = Leaning slightly backward

- « Spacing the feet farther apart

5 » Tlensing the abdominal muscles

4 = Bending the knees

Question Number : 110 Question Id : 9662317136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 9662317137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Clinical manifestations of dehydration include all of the following, EXCEPT:
Options:
, = headache and light headedness

- » dry mouth, eye and lips

= % small amounts of dark urine

4 « dry and brittle nails

Question Number : 111 Question Id : 9662317137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 9662317138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How much water must be added to 150 ml of a 1 in 20 solution to make up 1% solution?

Options:
1 % 30ml
> o 60 ml

z % 90ml

4 % 120ml

Question Number : 112 Question Id : 9662317138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 9662317139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the appropriate needle gauge for intradermal injections?
Options:

19 - 23 Gauge

1. -

5 % 16 - 18 Gauge

5 24 - 26 Gauge

4 R 20 - 22 Gauge

Question Number : 113 Question 1d : 9662317139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 9662317140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What comes under category 1 of the biomedical waste segregation?

Options:



, » Microbiological and biotechnical waste

- % Animal waste
= « Human anatomical waste

4 % Discarded medicines

Question Number : 114 Question Id : 9662317140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 9662317141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the proteolytic enzyme present in the gastric juice.

Options:
, = Trypsin

> % Chymotrypsin

- # Peptidase

4 « Pepsin

Question Number : 115 Question Id : 9662317141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id ;: 9662317142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cheilosis is the deficiency of:

Options:

, » Vitamin-By

5 o Vilamin-Bp

% Vitamin-Bg

% Vitamin-Bg

Question Number : 116 Question Id : 9662317142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 9662317143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement is NOT true regarding kwashiorkor?

Options:



, w Silky, easily pulled hair

-  Monkey face

- u Poor appetite

4 # Oedema present in the lower limbs and arms

Question Number : 117 Question Id ;: 9662317143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question 1d : 9662317144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the recommended dietary allowance (RDA) of calcium for a 9 year old child?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

;200 gm per day
400 gm per day
600 gm per day

800 gm per day

Question Number : 118 Question Id : 9662317144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

. 200 I\ giafes
, 400 T wiafes
. 600 I wfafes
, 800 T wfafes

Question Number : 119 Question Id : 9662317145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The first step in aerobic glycolysis pathway is:
Options:

, = Fructose 6-phosphate

- u Phospho-fluctokinase

5  Glucose 6-phosphate

4 R Pyruvate

Question Number : 119 Question Id : 9662317145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 9662317146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The immunoglobulin that is elevated in individuals with allergy is:
Options:

|  immunoglobulin E

> % immunoglobulin A

5 % immunoglobulin D

4 = immunoglobulin M

Question Number : 120 Question Id : 9662317146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SFgARAE o S et (g gfafean) g safFaat & 3o g@ar g, & #4222

Options:

, FFEATSIge §

1

T
o L.} 2
3 ® ‘ o el el

| EFgATAEeT UH
g B 2 .

Discipline?

Group Number : 7
Group Id: 966231150
Group Maximum Duration : 0
Group Minimum Duration : 0
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Section 1d : 966231265

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231291
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 9662317147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is an example of a chromoprotein?

Options:
, « Haemoglobin

- % Casein
=z % Mucin

4 % Glutenin

Question Number : 121 Question Id : 9662317147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 122 Question Id : 9662317148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In order to remember a mobile phone number, one makes it into smaller meaningful units. What is this technique of
memory called?

Options:
1 % Rehearsal

> % Retrieval

5 = Releaming

4  Chunking

Question Number : 122 Question Id : 9662317148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 9662317149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the type of intelligence in which individuals have the ability to control one’s body movements and handle
objects skillfully.

Options:

. » Musical-rhythmic intelligence

-~ % Visual-spastic intelligence

-  Body-kinesthetic intelligence

4 # Verbal-lingual intelligence



Question Number : 123 Question Id : 9662317149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 9662317150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the weight of a placenta at term?

Options:
| % 100 gm

250 gm
5 « 200 gm

1000 gm

Question Number : 124 Question Id : 9662317150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
. % 100 TIMH

. % 250 TMH
- v 500 IMH

. % 1000 =TmH



Question Number : 125 Question 1d : 9662317151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the relationship of the long axis of the foetus to the long axis of the maternal spine?

Options:
1 % Presentation

e Lie
%z % Denominator

4 % Aftitude

Question Number : 125 Question 1d : 9662317151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 9662317152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On vaginal examination, which level —1 station of the foetal head determines the foetal presenting part?

Options:
1 # 1 cmabove the iliac crest

-  lem below the ischial spines

= w 1 inchabove the symphysis pubis

4 = 1 inch below the coccyx

Question Number : 126 Question Id : 9662317152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 9662317153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the duration of puerperium?

Options:
1 #% 2 weeks

- # 4 weeks
3 o 6 weeks

4 % 8weeks

Question Number : 127 Question Id : 9662317153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 9662317154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Identify the type of abortion where the changes progress to a state from where continuation of the pregnancy becomes
impossible.

Options:
1 % Threatened abortion

- « Inevitable abortion

5 » Complete abortion

4 % Missed abortion

Question Number : 128 Question Id : 9662317154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 9662317155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following assessment findings of a pregnant lady determine that she is in the second stage of labour?

Options:

, % Membranes have ruptured

-  Cervix is dilated completely

- » Begins to expel clear vaginal fluid

4 = Contractions are regular

Question Number : 129 Question Id : 9662317155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id ;: 9662317156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following assessment findings suspect the diagnosis of placenta previa?
Options:

, « Brightred coloured bleeding

- % Tender uterus

5 » Placenta in the upper segment

4 = Abdominal pain

Question Number : 130 Question Id : 9662317156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 9662317157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a type of hypertension with proteinuria and convulsions during pregnancy?
Options:

, w Gestational hypertension

5 o Eclampsia

- » Chronic hypertension

4 # Pre-eclampsia

Question Number : 131 Question Id ;: 9662317157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 9662317158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following initial nursing actions has to be taken before performing fundal assessment on a post-partum
client?
Options:
1 % Ask the mother to turn to her side.

- u Ask the mother to lie flat on her back with the knees and legs flat and straight.

o  Ask the mother to empty her bladder.

4 = Massage the fundus gently before determining the level of the fundus.

Question Number : 132 Question Id : 9662317158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 9662317159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which type of labour, the combined duration of the first and second stage is less than two hours?
Options:

1 % Normal labour

> # Prolonged labour

-  Precipitate labour

4 % Trial labour

Question Number : 133 Question Id : 9662317159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 134 Question Id ;: 9662317160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In which of the following malpositions there is a saucer-shaped depression observed, at or just below the umbilicus, on
abdominal examination?

Options:
1 ® DCClpltDaLHEHDl‘ position

-~ = Mentoanterior position

5  Occipitoposterior position

4 = Mento-posterior position

Question Number : 134 Question 1d : 9662317160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 9662317161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a cause of secondary post-partum hemorrhage?

Options:
, = Laceration of the lower genital tract

- % Involution of the uterus
-  Presence of retained cotyledons

4 = Presence of haematological disorders in the mother

Question Number : 135 Question Id : 9662317161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A & ¥ FiF @ cRdus 9E-IEH FEE # FRT 87

Options:
| ® foTgel ST 9 & Hed

o % T T FATIA

- v TR W A9 & 39refy

. % AT H gHCIASR [GhRI HT el

Question Number : 136 Question Id : 9662317162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the immediate intervention to be performed on a mother at term gestation, who is experiencing moderate
vaginal bleeding, indicating abruptio placenta?

Options:

, = Strict monitoring of intake and output

-  Delivery of the foetus

_ Weekly monitoring of coagulation studies until the time of delivery

4 = Complete bed rest for remaining period of the pregnancy

Question Number : 136 Question Id : 9662317162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 9662317163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which nursing intervention is a priority while caring for a woman in labour with hypertonic uterine contractions which
are erratic in their frequency. duration, and intensity?

Options:
, = Prepare the client for an amniotomy

-  Provide pain relief measures

5 » Promote ambulation every 30 minutes

4 # Provide oxytocin augmentation

Question Number : 137 Question Id : 9662317163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 9662317164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has developed the Theory of Emotional Development?

Options:
; w» Sigmund Freud

- % James Fowler

5 = Lawrence Kohlberg

4 « Erik H Erikson



Question Number : 138 Question 1d : 9662317164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 9662317165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The temporary accumulation of epithelial cells formed on the hard palate in a neonate are called:

Options:
1 ® supernumerary teeth

-  Epstein pearls

5 w letention cysts

4 = sucking callosities

Question Number : 139 Question Id : 9662317165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 9662317166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Palpation of an olive-shaped mass in the epigastrium is an indication of:

Options:
, = appendicitis

- % ulcerative colitis

5 # malabsorption syndrome

4 « hypertrophic pyloric stenosis

Question Number : 140 Question Id : 9662317166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Discipline=
Group Number : 8
Group Id: 966231151
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Discipline=

Section Id : 966231266

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231292
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 9662317167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The dosage of vitamin-K to be administered to a preterm neonate immediately after birth is:
Options:

| 0.5 mg

5 % I mg

Question Number : 141 Question Id : 9662317167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 9662317168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which condition is diagnosed using the Hess test?
Options:
, = disseminated intravascular coagulation

-  inmune thrombocytopenic purpura

-z w immunodeficiency syndrome

4 = chronic myeloid leukaemia

Question Number : 142 Question 1d : 9662317168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question 1d : 9662317169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which condition is presented by the presence of strawberry tongue?

Options:
1 % Celiac disease

> % Maple syrup urine disease

5 « Kawasaki disease

4 # Glossitis

Question Number : 143 Question Id : 9662317169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 9662317170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How is a Blalock-Taussig shunt performed?

Options:
, = Anastomosis of the ascending aorta and right pulmonary artery

- # Anastomosis of the upper descending aorta and left pulmonary artery

- % -Anastomosis of the superior venacava and left pulmonary artery

4 « Anastomosis of the subclavian artery and right pulmonary artery

Question Number : 144 Question Id : 9662317170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 9662317171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Macewen’s sign is an important diagnostic feature of which of the following conditions?

Options:
, = Birth injury

> % Choanal atresia

5 = Spina bifida

4  Hydrocephalus

Question Number : 145 Question Id : 9662317171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 9662317172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Administration of which contaminated vaccine may produce toxic shock syndrome?

Options:
1 % DPT
> % Rabies

s # BCG

4 « Measles

Question Number : 146 Question Id : 9662317172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 9662317173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following categories of children with mental retardation is referred to as a trainable group?

Options:
1 % Mild mental retardation

- « Moderate mental retardation
= # Severe mental retardation

4 % Profound mental retardation

Question Number : 147 Question Id : 9662317173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question 1d : 9662317174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which drug is effective for iron chelation therapy in beta thalassemia?



Options:
1 +« Deferoxamine

5 w Irimethoprim

- » Immunoglobins

4 # Dextromethorphan

Question Number : 148 Question Id : 9662317174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 9662317175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a characteristic of down syndrome?

Options:
, « Macrocephaly

- u Pseudohypertelorism

- % Sandal gap

4 % Simian crease

Question Number : 149 Question Id : 9662317175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 9662317176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which food item 1s advised to be included in the diet of a child with celiac disease?
Options:

1 % Wheat

5 % Rye

5 = Barley

4 « Rice

Question Number : 150 Question Id : 9662317176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 9662317177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who discovered the double helix structure of deoxy ribonucleic acid?

Options:



1 % David Baltimore
- #% Sir Ronald Ross
= « Watson and Crick

4 % Louis Pasteur

Question Number : 151 Question Id : 9662317177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 9662317178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the immunoglobulin responsible for an anaphylactic-type reaction.

Options:
IgG

Question Number : 152 Question 1d : 9662317178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 9662317179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the type of hypersensitivity in haemolytic anemia.
Options:

, = Anaphylactic

5 % Immune Complex

5  Cytotoxic

4 w Delayed

Question Number : 153 Question Id : 9662317179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 9662317180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following organisms is responsible for Genital Warts?

Options:



 » Treponema pallidum

-  Human papillomavirus

- » Irichomonas vaginalis

4 = Neisseria gonorrhoeae

Question Number : 154 Question Id ;: 9662317180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 9662317181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is azotorrhea?

Options:

, « Excess discharge of nitrogenous matter in faeces or urine

- % Excretion of abnormal quantities of fat in faeces

- » Excess protein and blood loss in urine

4 = Excretion of abnormal quantities of calcium and potassium in urine

Question Number : 155 Question Id : 9662317181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 9662317182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct statement regarding ECG changes in hyperkalemia.

Options:
; » Normal "P*wave and ‘QRS complex’. rounded *T" wave and shallow “U’ wave

- # Peak ‘P’ wave, ‘ST depression, shallow *T" wave and prominent’ U’ wave

-  Flat "P" wave, prolonged ‘PR’ interval, widened *QRS complex” and tall *T" wave

4 = Peak ‘P’ wave, absent ‘QRS complex’ and prominent “U’ wave

Question Number : 156 Question Id : 9662317182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Mr. Y is on treatment for pulmonary tuberculosis. He developed symptoms related to the eighth cranial nerve damage.
Identify the drug responsible for the above side effect.

Options:

L ¥ Streptomycin

> % Ethambutol

- » Rifampicin

4 # Isoniazid
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 158 Question 1d : 9662317184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT related to Dressler syndrome?

Options:
, = Characterised by pericarditis with effusion and fever

-  Feverdevelops 2 to 3 days after an MI
¢ Caused due to antigen antibody reaction

.

4 = Corticosteroid therapy is used for treatment

Question Number : 158 Question Id : 9662317184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 9662317185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify an absolute contraindication for thrombolytic therapy.
Options:

; % Chest pain longer than 20 minutes

-  Known bleeding disorder

- » Recent administration of nitroglycerine

4 = ST-segment elevation on the ECG

Question Number : 159 Question Id : 9662317185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 9662317186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is biot’s respiration?

Options:

; = Normal breathing pattern with proper rate and rhythm

- u Increased rate and depth of breathing

5  Normal breathing followed by periods of apnoea

, = Regular rate and depth of breathing that decreases until dyspnoea

Question Number : 160 Question Id : 9662317186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 9662317187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the common cause for urge incontinence?

Options:
1 % Bladder urethral outlet obstruction

» = Relaxed pelvic floor musculature

- u Formation of fistula during pregnancy

4 « Overactivity of the detrusor muscle

Question Number : 161 Question Id : 9662317187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Brudzinski’s sign is a feature of:
Options:
|« meningitis

- ® seizures
z % cerbrovascular accident

4 % endocarditis

Question Number : 162 Question Id ;: 9662317188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 163 Question Id : 9662317189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify an autosomal dominant disorder from the following.
Options:

; = Cystic fibrosis

> % Sickle cell anaemia

5  Huntington’s disease

4 = Tay-Sachs disease

Question Number : 163 Question Id : 9662317189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 9662317190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the post-renal cause of acute renal failure.

Options:
, = Acute glomerulonephritis

-  Benign prostatic hyperplasia
- % Heart failure

4 = Anti-hypertensive medications
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 9662317191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A nurse is performing physical examination of the client and notices exophthalmous. What would be the diagnosis of
the client?

Options:
. « Hyperthyroidism

> » Hypothyroidism

- % Ihyroiditis

4 # Thyroid Cancer

Question Number : 166 Question Id : 9662317192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
A murse is caring for a patient who has undergone a tracheostomy. Identify an early complication of tracheostomy.

Options:
; = Tracheoesophageal fistula

> o Air embolism
- % Tracheal necrosis

4 = Dysphagia

Question Number : 166 Question Id : 9662317192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 9662317193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bouchard’s nodes and Heberden’s nodes are a feature of;
Options:

1 % rheumatoid arthritis

gout arthritis

M
5

= % infective arthritis

4 « osteoarthritis

Question Number : 167 Question Id ;: 9662317193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 9662317194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a reason for population explosion?

Options:



, » Early marriage

- u llliteracy

- » Religious beliefs and traditions

4 « Overcrowding

Question Number : 168 Question Id : 9662317194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 9662317195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a characteristic of an urban community?
Options:

; = Joint family system

5 % Low literacy rate

-  Heterogeneous population

4 % Strong caste system

Question Number : 169 Question Id : 9662317195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 9662317196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The causative organism for chicken pox is the:

Options:
1% paramyxm*ims

5 w Mmyxovirus

5 o varicella zoster

4 w herpes zoster

Question Number : 170 Question Id : 9662317196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 9662317197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which committee is also known as the *Health Survey and Planning Committee’?

Options:



1 # Shrivatsav Committee

- = Jungalwalla Committee

3 « Mudaliar Committee

4 % Bhore Committee

Question Number : 171 Question Id : 9662317197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 9662317198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The number of new cases occurring in a defined population during a specific period of time is known as:

Options:
, w point prevalence

-~ u period prevalence

3 o incidence

4 ® rate

Question Number : 172 Question Id : 9662317198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question 1d : 9662317199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An outbreak of a disease in an animal population is known as:

Options:
1 o EPIZO0TIC

- % enzootic
3 % exotic

4 = sporadic

Question Number : 173 Question Id : 9662317199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question 1d : 9662317200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of a live vaccine?

Options:



, » Hepatitis B
- « Measles

% % Influenza

4 % Rabies

Question Number : 174 Question Id : 9662317200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 9662317201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following options were recommended by the Shrivastav Committee?
Options:

,  One male and female health worker per 5.000 population

> w Employ basic health workers for implementing family planning

= % One basic worker per 10,000 population

4 # One male and female health worker per 10,000 population

Question Number : 175 Question Id : 9662317201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 9662317202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The contraceptive which causes cervical mucus thickness and stops the release of ovum from the ovary is:
Options:

1 « MalaD

5 % Copper T

- % LippesLoop

4 % Diaphragm

Question Number : 176 Question Id : 9662317202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SAH § Fi9 TEERITE &, ST TRE MET 209AT F SIS T FRUT §44T ¢ 3T e ¥ By &
REr$ & Tear 32

Options:

1 «# &Hlell 2

Question Number : 177 Question Id : 9662317203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Infant mortality rate means the deaths among infants, and is expressed as a rate per:



Options:
, = total deaths in a year

> o 1000 live births
= % 1000 deaths

4 = total mid-year population

Question Number : 177 Question Id : 9662317203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question 1d : 9662317204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Multibacillary Leprosy refers to a person with:

Options:
1 #% 1 to 5 skin lesions without nerve involvement

> % more than 5 skin lesions with one nerve involvement
% % more than 6 skin lesions with more than one nerve involvement

4 « more than 6 skin lesions with no nerve involvement

Question Number : 178 Question 1d : 9662317204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question 1d : 9662317205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The food supplements in the Mid-Day Meal Scheme should provide a minimum of:

Options:

, = 300 calories with 5 gm of proteins

250 calories with 5 to 10 gm of proteins
5 300 calories with 8 to 12 gm of protein

250 calories with 8 to 12 gm of protein

Question Number : 179 Question Id : 9662317205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id ;: 9662317206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Adding vitamin-D to vegetable oil is an example of:

Options:



1 « food fortification
- % food additive
= % food adulteration

4 % food intoxication

Question Number : 180 Question Id : 9662317206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231294
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9662317207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Multidrug-Resistant Tuberculosis means resistance to the drugs:

Options:
; » Rifampicin and Streptomycin

> # Rifampicin and Pyrazinamide

- = Isoniazid and Pyrazinamide

4 « Isoniazid and Rifampicin

Question Number : 181 Question Id : 9662317207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id ;: 9662317208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

False unshakable belief is termed as:
Options:

1 % illusion



> % hallucination
z « delusion

4 # hypochondriasis

Question Number : 182 Question Id : 9662317208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 183 Question 1d : 9662317209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 9662317209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Finger-to-finger test is performed to assess which of the following neurological functions?

Options:
1 % Cerebral

- % Motor



3 « Cerebellar

4 R Sensory

Question Number : 184 Question 1d : 9662317210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the optimal size for group therapy?

Options:
1 % 5to7 members

> « 8to 10 members
=z % 10to 15 members

4 % 15 to 20 members

Question Number : 184 Question 1d : 9662317210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 9662317211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a clinical feature of a Catatonic Stupor?

Options:
1 % Mutism

- % Echolalia

= « Incoherence



4 w Posturing

Question Number : 185 Question Id : 9662317211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 9662317212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A client is on lithium drug for 10 days. What does it indicate. if on the 10t day his serum lithium level is 1.0 mEq/1.?
Options:

1 % Toxic level

.  Therapeutic blood level

- = Laboratory error

4 # Unusual response of the drug

Question Number : 186 Question Id : 9662317212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 9662317213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the tool used to assess alcohol abuse?
Options:

1 % Global assessment of functions

> « CAGE questionnaire

5 # Brief psychiatric rating scale

4 = Manic-state rating scale

Question Number : 187 Question Id : 9662317213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question 1d : 9662317214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the core feature of anorexia nervosa?
Options:

, = Binge eating

-~ # Poor impulse control



_— Tooth staining

4 « Fear of becoming obese

Question Number : 188 Question Id : 9662317214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 189 Question Id : 9662317215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When assessing the self-care abilities of a child with an IQ score of 30, the nurse would that expect the child:
Options:
, = can perform self-care somewhat independently, while being monitored

- = Trequires close supervision while performing certain independent activities

5  lequires complete supervision but may be able to perform simple hygienic skills

4 = Trequires constant assistance and supervision
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Question Number : 190 Question Id : 9662317216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A patient, newly diagnosed with cancer, shouts at the physician and says. ‘Why me?” Which stage of grief is the patient
in, according to the Kubler-Ross Theory?

Options:
1 % Denial

5 o Anger

5 » Bargaining

4 = Depression
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Question Number : 191 Question Id : 9662317217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following treatment modalities an informed consent must be obtained?

Options:



, w Group therapy

- % Supportive psychotherapy

=  Electroconvulsive therapy

4 » Behavioural therapy
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is an expansive mood?
Options:

, w Intense elation of feelings

- « Expression of one’s feelings without restriction

- = Exaggerated happiness

4 = False expression of feelings
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Question Number : 193 Question 1d : 9662317219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The objectives that are written more specifically in terms of knowledge, abilities and skills to be learnt by the students
are called:

Options:
1 % central Gh_| eCrves

o « contributory objectives

- » institutional objectives

4 = general objectives
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Question Number : 194 Question 1d : 9662317220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The philosophy which entails learning through effort by engaging in projects and experiments is called:

Options:



|  Pragmatism
- % naturalism
3 % Idealism

4 % realism
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Question Number : 195 Question Id : 9662317221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Directing in nursing administration includes which of the following activities?
Options:

, = Interrelating activities for subordinates

- u [lraining the subordinates

- » Deciding on the jobs for subordinates

4 « Guiding and supervising subordinates
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Question Number : 196 Question Id : 9662317222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The measurement of serious, undesirable and avoidable outcomes in a hospital, like falls, is known as:

Options:
, = benchmarking

> « Sentinel event indicator

- % morbidity indicator

4 % standard indicator
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Question Number : 197 Question Id : 9662317223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is nursing protocol?

Options:



, w Guidelines for nurses regarding patient care

> w Step-by-step guide for a particular nursing activity

=  Nurses’ authority to perform certain procedures as delegated by the physician

4 % Guide to improve nurses performance
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Question Number : 198 Question Id : 9662317224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Selection of every fifth patient from the list of tuberculosis patients admitted in a hospital is known as:
Options:

| « Systematic random sampling

> w simple random sampling

5 » stratified random sampling

4 # sequential sampling
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Question Number : 199 Question Id : 9662317225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a term for the scope of a particular research design that is described by setting boundaries at
the beginning of the study?

Options:
| % Assumptions

- % Limitations
= % Generalisations

4 « Delimitations
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Question Number : 200 Question Id : 9662317226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a Ratio Data?



Options:
; % 941095 degrees Celsius

- % Hindu
5 165 cm height

4 w Agree and Disagree
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